e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 3 info@parsrot.com




—
sy L and

BUICK
CENTURY 1997-2005
|
BU-12101
Rotbasi
On
89047697
1st Gen 2008-2015
|
CH-19911 CH-19917
Denge Kolu Denge Kolu —
Arka Ust Arka Alt
15148024 23461856
CH-13913 CH-12912
Rot Mili Rotbasi
On On
20817752 15869897
CH-11915 CH-14910
Rotil Z-Rot
On On
19207521 20905104
CH-14916 CH-914
Z-Rot Denge Kolu Burcu
Arka Arka
15129234 C2D4013
BU-20985 BU-20986
Salincak Burcu Salincak Burcu =
Arka Alt Arka Ust
23461856 15148024
2nd Gen 2018 after
CH-121001 CH-121002
Rotbasi Rotbasi
On Sag Dis On Sol Dis
23214216 23214215

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

4

info@parsrot.com



—
sy L and

BUICK

e —— —
ENCORE 2012-2016

OP-12431 OP-12432
Rotbasi Rotbasi
On On
ElektiricalType M14x1,5 HidrolikType. M14x1.5
95932779 1609206
CH-11254 CH-13253
Rotil Rot Mili
On Alt On
95016024  Witheps
95952929
OP-14435 OP-14435A
Z-Rot Z-Rot
On Sag On Sag
95942520 95942520
OP-14436 OP-14436A
Z-Rot Z-Rot
On Sol On Sol
95942519 350231
BU-20972 BU-20973
Salincak Burcu Salincak Burcu
Onic On Dis
95025705 95025705
2nd Gen
BU-20961 BU-13153
Salincak Burcu Rot Mili
On On
29854828 withoutperformancepackage
13271998
CH-13333 CH-12171
Rot Mili Rotbasi
On On
1609181 withoutperformancepkg
22776539

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

5

info@parsrot.com



Rot sy

== Land BUICK
LACROSSE 2nd Gen 2010-2016
OP-12541 OP-12542
Rotbasi Rotbasi
On Sag On Sol
withperformancepkg withperformancepkg
- 13272002 13272001 -
| |
BU-11155 CH-16338
P Rotil Rotilli Salincak
N OnUst  On Sag Alt
13258056 22854826
| |
CH-16339 OP-14517
Rotilli Salincak Z-Rot
On Sol Alt On
22854825 C13219141
OP-14510 OP-14515
Z-Rot Z-Rot
On Arka
13282833 444087

4th-5th-6th Gen

1971-1990

BU-14160

BU-14190

Z-Rot Z-Rot
Arka On
25940977 15571395
LESABRE 7th Gen 1992-1999
| |
BU-14170 CD-130
Z-Rot Z-Rot
On On
25715934 10164176
8th Gen 2000-2005
|
CD-130
Z-Rot

n
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsroticom= 10164176

info@parsrot.com



Rot sy

== Land BUICK
LESABRE 8th Gen 2000-2005
BU-14170 CH-13653
Z-Rot Rot Mili
On On
25715934 15221006
CH-11604 BU-12161
Rotil Rotbasi
On Alt On
C96852964 89047749
|
BU-16168 BU-16169
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
25699467 25699468
BU-16168N BU-16169N
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
25699467 25699468
2nd Gen
BU-16169N BU-16168N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
25699468 25699467
BU-16169 BU-16168
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
25699468 25699467
BU-12161
Rotbasi
On
89047749

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land BUICK
]
RAINIER 1st Gen 2003-2007

CH-13183 CH-12181
Rot Mili Rotbasi
Onig On Sag Dis
26100288 4011887

CH-12182 CH-11184
Rotbasi Rotil
On Sol Dis On Alt

4011886 X4
8191336700

CH-16198 CH-16908

Rotilli Salincak Rotilsiz Salincak
On Sag Alt On Sag
2004-2007 25786775

19133556

CH-16909 CH-16199

Rotilsiz Salincak Rotilli Salincak
On Sol On Sol Alt
25786774 2004-2007
19133555

CH-14186A CH-14187A

Z-Rot Z-Rot

On Sag On Sol
steeltype steeltype

15918822 15918823

CH-14188A CH-14189A
Z-Rot Z-Rot

Arka Sol Arka Sag
steeltype steeltype

88982342 88982343

3rd Gen

CH-14940 CH-11935
Z-Rot Rotil
Arka On Alt
10259660 17989117

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 8 info@parsrot.com



Rot sy

== Land BUICK
{c7:\R 4th Gen 1997-2004
CH-11935 CH-11604
Rotil Rotil
On Alt On Alt
17989117 C96852964
BU-12101
Rotbasi
On
89047697

2011-2016
OP-14517 CH-16339
Z-Rot Rotilli Salincak
On On Sol Alt
C13219141 22854825
CH-16338 BU-11155
Rotilli Salincak Rotil
On Sag Alt On Ust
22854826 13258056
CH-12171 CH-13336
Rotbasi Rot Mili
On On
withoutperformancepkg 2.4&2.5L.With19wheels.
22776539 1609183
OP-14516 CD-14150
Z-Rot Z-Rot
On Arka
350618 22810912
BU-20961
Salincak Burcu
On
22854828

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land BUICK
RENDEZVOUS 2002-2007
BU-16188 BU-16189
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
10318098 10318097
BU-16188N BU-16189N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
10318098 10318097
CH-12341 CH-11604
Rotbasi Rotil
On Dis On Alt
89047756 C96852964
CH-13653
Rot Mili
On
15221006
2012-2016
OP-14517 OP-13483
Z-Rot Rot Mili
On On
C13219141 Type:POCNJ1 M16X1,5-L=291mm
1609027
OP-13484 OP-12511
Rot Mili Rotbasi
On On
Type:POCNJO M16X1,5-L=288mm 13286686
1609029
CH-16148 CH-16149
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
C13272606 C13272605

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

BUICK

e —— —
VERANO 2012-2016

OP-16488 OP-16489
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt

13334023 352106
BU-20205 BU-20250
Salincak Burcu Salincak Burcu

Orta On Dig
352866 352491

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

11

info@parsrot.com






